Bellwork  Alg 2A  Thursday, September 22, 2016

1. The perimeter of a triangle is 16. The largest side is three times the length of the smallest side. The
third side is five less than the largest side. Write and solve an equation to find the lengths of the three
sides of this triangle.

2. Two angles are complementary. One angle is fourteen more than three times the other angle. Write
and solve an equation to find the measure of these two angles.

3. The ratio of the sides of a rectangle is 3:2. The perimeter of the rectangle is 70. Write and solve an
equation to find the dimensions of this rectangle.

4. You have only nickels and dimes in your piggy bank. One day you dumped out all the coins and found
out that there were 75 coins that added up to $5.40.

Write and solve a system of equations to find the number of dimes and nickels that were in your piggy
bank.
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1. The perimeter of a triangle is 16. The largest side is three times the length of the smallest side. The
third side is five less than the largest side. Write and solve an equation to find the lengths of the three
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2. Two angles are complementary. One angle is fourteen more than three times the other angle. Write
and solve an equation to find the measure of these two angles.
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3. The ratio of the sides of a rectangle is 3:2. The perimeter of the rectangle is 70. Write and solve an
equation to find the dimensions of this rectangle.
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4. You have only nickels and dimes in your piggy bank. One day you dumped out all the coins and found
out that there were 75 coins that added up to $5.40.
Write and solve a system of equations to find the number of dimes and nickels that were in your piggy
bank.
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